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QUESTION 1

The following object-oriented program is inefficient and includes many unnecessary statements.

01
02
03
04
05
06
07
(03]
09
10

Local Record &Rec = GetRecord() ;
Local Field &5tartDt, &EndDt;

&StartDt &Rec.GetField (Field.START DATE) ;
&StartDt = &Rec.GetField (Field.END _DATE) ;
If All (&StartDt.Value, &EndDt.Value) And
&5tartDt.Value > &EndDt.Value Then
&StartDt. SetDefault () ;
Error MagSet (1040, 3, “Message Not Found.”, &StartDt.Value,
End-If;

If you delete lines 2-5, how would you rewrite lines 6-10 to be efficient, compact, and correct?
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X,
If 211 (ERec.GetField (8TERT DATE.Value), ERec.GetField[END_DETE.Value}} 2And
(ERec.GetField (START DATE.Value) > EREC.GetField{END_DaTE.?alue} Then
&Rec.GetField{BThRT_DATE} .S8etDefault () ;
Error MsgGet (1040, 3, “Message Not Found.”, &Rec.GetField (START DATE.Value),
ERec.GetField[END_DETE.?alue}};
End-If;
B.
If 211 (&Rec.START DATE.Value), &Rec.END DATE.Value)) And
(&Rec .STRRT DATE.Value) > ERec.END DATE.Value) Then
&Rec.START DATE. SetDefault();
Error MsgGet (1040, 3, "Message Not Found."”, &Rec.START DATE.Value,
&Rec.END DATE.Valuej;
End-If;
G
If Aall {START_DATE.?aluE:, END_DATE.ValuE:} and
START DATE.Valus) > END _DATE.Value Then
START DATE.SetDefault();
Error MsgGet (1040, 3, "M=ssage Not Found.”, START DATE, END DATE) ;
End-If;
Dr.
If all {STE—LRT_DATE.ValuE:, END_DZL‘&TE.VEJ_'LLB} And
START DATE.Values) > END DATE.Valus Then
START DATE.SetDefault();
Error MsgGet (1040, 3, “Message Not Found.”, START DATE.Value, END DATE.Value) ;
End-If;
F.
If A1l (&START DATE.Value, &END DATE.Value)} And
&START DATE.Value) > END DATE.Value Then
&START DATE.SetDefault();
Error MsgGet (1040, 3, “Message Not Found.”, &START DATE.Value,
&END DATE.Value);
End-IZ;
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: A

QUESTION 2

Assume that you open a PeopleSoft application record definition using Application Designer. Which two of the following
statements are false? (Choose two.)

170-632 VCE Dumps | 1Z0-632 Study Guide | 120-632 Exam Questions 3/5


https://www.leads4pass.com/1z0-632.html
https://www.leads4pass.com/1z0-632.html
https://www.leads4pass.com/1z0-632.html

https://lwww.leads4pass.com/1z0-632.html
2024 Latest leads4pass 120-632 PDF and VCE dumps Download

A. In Application Designer, with a record definition open, you can insert additional fields

B. Any changes made to the record definition in Application Designer are stored in a PeopleTools table as application
metadata

C. In Application Designer, with a record definition open, you can view transactional application data, such as inventory
items provided by a vendor

D. In Application Designer, with a record definition open, you can add or update transactional application data, such as
adding a new inventory item

E. In Application Designer, with a record definition open, you can modify the key structure of the record definition

F. In Application Designer, with a record definition open, you can set a record field to be a required field for which an
end user must specify a value when adding a new row of transactional data

Correct Answer: BF

QUESTION 3
When you attempt to drag a subrecord onto a page, the page definition displays an error. What is the reason for this?

A. The Use tab on the Page Properties dialog box does not have the Page Size field set to Auto-size so that the page
automatically expands to facilitate all the fields in the subrecord

B. The subrecord definition does not have the Record Type value set to SubRecord

C. The Use tab on the Record Properties dialog box for the subrecord definition does not have the Parent record field
set correctly in the Record Relationship settings

D. The Page Type Field is not set to be Subpage on the Use tab of the Page Properties dialog box

Correct Answer: C

QUESTION 4
Identify three true statements describing PeopleTools tables. (Choose three.)

A. PeopleTools tables can be updated equally using PeopleTools, such as Application Designer, or the SQL editing tool
for your database platform

B. PeopleTools tables use the naming convention of having the prefix PD*, as in PSRECDEFN

C. PeopleTools tables store metadata that defines the elements of a PeopleSoft application

D. PeopleTools tables contain the same content, regardless of the PeopleSoft application installed on the database
E. PeopleTools tables have a consistent structure, regardless of the PeopleSoft application installed on the database
F. PeopleTools tables are empty until the implementation team has loaded the application\\'s transactional data

Correct Answer: ABC

170-632 VCE Dumps | 1Z20-632 Study Guide | 1Z20-632 Exam Questions 41/5


https://www.leads4pass.com/1z0-632.html
https://www.leads4pass.com/1z0-632.html
https://www.leads4pass.com/1z0-632.html

https://lwww.leads4pass.com/1z0-632.html

L eads 4 PGSS 2024 Latest leads4pass 120-632 PDF and VCE dumps Download

QUESTION 5
1 If ED_RATECPJ_.C_HDR.GENERATE_CROE-S_RT = WY Then
&RS]1 .ShowAllRows () ;
EQ RATECALC HDR.RATE TRIANGULATE = kil o B
End—If;
2 &OLD_PRICE = &TOT}-’&.L_PRICE;

&TOTAIL. PRICE + &NEW PRICE =&GRAND TOTAL;
GRAND TOTAL = &GRAND TOTAL + &TOTAL PRICE — &OLD PRICE;

3 Local Field &CrsType;

&CrsType = GetField {PSU_COU'RSE_TBL . COU'RSE_'IYPE} ;
&CrsType .Valyue = W“I¥
LECrsType.Enabled <> False;

4 Local Rowset &Rowset = GetRowset () ;
Local Row &Rowl, &Row?2;

5 If PSU EMP REVIEW.FROM DT > PSU EMP REVIEW.TO DT Then
Error (“From date should be prior to To date.”);
End-If;

Which two PeopleCode excerpts contain syntax errors? (Choose two.)
Al

B.4

E.3

Correct Answer: DE
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